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(b) A torque of 1 kN-m is applied to a 40 mm
diameter rod of 3 mtr." length. Determine the
maximum shearing stress induced and twist
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produced. Take G = 80 GPa.
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(Following Paper ID and Roll No. to be filled in your Answer Book)
PAPER ID : 199229

Roll No.
B. Tech.
(SEM. ) THEORY EXAMINATION, 2014-15
" ENGINEERING MECHANICS
Time : 3 Hours] [Total Marks : 100

Note : Assume suitable data if necessary.
PART-A (Compulsory)

1  Attempt all questions : 10x2=20

(@ How do you find the resultant of non coplaner
concurrent force system ?

(b) "Friction is both desirable and undesirable".
Explain

(c) With neat sketches describe in brief different types
‘of beams.

(d) What assumptions are made while determining
stresses in a truss ?

(¢) What is the difference between centroid and
center of gravity ?
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(b) A torque of 1 kN-m is applied to a 40 mm
diameter rod of 3 mtr." length. Determine the

m maximum shearing stress induced and twist
Q produced. Take G = 80 GPa.
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(Following Paper ID and Roll No. to be filled in your Answer Book)
PAPER ID : 199229

Roll No.
B. Tech.
(SEM. II) THEORY EXAMINATION, 2014-15
- ENGINEERING MECHANICS
Time : 3 Hours] [Total Marks : 100

Note : Assume suitable data if necessary.
PART-A (Compulsory)

1 Attempt all questions : 10x2=20

(@) How do you find the resultant of non coplaner
concurrent force system ?

(b) "Friction is both desirable and undesirable".
Explain.

(c) With neat sketches describe in brief different types
‘of beams.

(d) What assumptions are made while determining
stresses in a truss ?

(¢) What is the difference between centroid and
center of gravity ?
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